

## FINAL EVALUATION REPORT

(As Per Rule 35 of PP Rules, 2004)

Name of Procuring Agency:

NADRA Regional Head Office, Lahore

**Method of Procurement:** 

Single Stage Two Envelop Open Tender

**Title of Procurement:** 

**Procurement of Uniform** 

4. **Tender Inquiry No.:**  Tender# NADRA-RHO LHR-RFB/2024/Uniform

PPRA Reference No. (TSE):

TS537245E dated 18-04-2024

Date & Time of Bid Closing:

06-05-2024 at 1430 hours

Date & Time of Bid Opening: 7.

06-05-2024 at 1500 hours

No. of Bids received:

04 x Bids

9. Criteria for Bid Evaluation: Most Advantageous Bidder (As per evaluation criteria)

10. Details of Bid(s) Evaluation: Detailed below

	Technical Evaluation of Proc	urement or	Uniform (Securi	ty Guards/ Driver			
a. Uniforms for Security Guards			Bakhsh Enterprises	Waleed Brothers	Chaudhary Enterprises	Hamaila Trading Corporation	
a-1	Trousers	2-6 Weeks	Reject	As per Sample	As per Sample	Reject	
0-2	Shirts	-do-	As per Sample	Reject	As per Sample	Reject	
is a second	T-Shirts	-do-	Reject	Reject	As per Sample	Reject	
4	Shoes	-do-	Reject	Reject	As per Sample	Reject	
	Socks	-do-	As per Sample	Reject	As per Sample	Reject	
· d	Belts	-do-	As per Sample	Reject	As per Sample	Reject	
	Caps	-do-	As per Sample	Reject	As per Sample	Reject	
I-8	Badge Set (Name Tag, Shoulder title, Pakistan Flag, NADRA Security wing, NADRA Security Sign	-do-	As per Sample	Reject	As per Sample	Reject	
o. Uniforms for Drivers and Mess Staff							
)- <b>1</b>	Shalwar Qameez	-do-	Reject	Reject	As per Sample	Reject	
<b>12</b>	Waistcoat	-do-	As per Sample	Reject	As per Sample	Reject	
	Socks	-do-	As per Sample	Reject	As per Sample	Reject	
	Shoes	-do-	As per Sample	Reject	As per Sample	As per Sample	
.51	Caps	-do-	As per Sample	Reject	As per Sample	Reject	
	Safari Sult	-do-	As per Sample	Reject	As per Sample	Reject	





				RFB # NADRA	RHO LHR-RF	B/2024/Unifor	m				
	Baksh Enterprises Waleed Brothers Chaudhary Enterprises								Hamalia Trading Corporation		
a. Uniform for Security Guards		Qty	Unit Price Per line item Including all	Total Price Per line item Inclusive all	line item Including all	Total Price Per line item Inclusive all	Unit Price Per line item Including all	Total Price Per line item Inclusive all	Unit Price Per line item Including all	Total Price Per line item Inclusive all	
	T		Taxes (Rs.)	Taxes (Rs.)	Taxes (Rs.) 1.695	Taxes (Rs.) 213,570	Taxes (Rs.) 1,599	Taxes (Rs.) 201.474	Taxes (Rs.)	Taxes (Rs.)	
a-1	Trousers		-	-	2nd Most Ad		1st Most Ad		-	<u> </u>	
a-2	Shirts	126	1.980	249,480	Zilu Wost Au	-	1,599	201,474			
	Stills	120					1st Most Advantageous				
			2nd Most Advantageous								
a-3	T-Shirts	126	•	-	-	-	699	88,074	-	-	
							1st Most Advantageous after Price Assesment				
a-4	Shoes	126	-	-	-	-	4,399		1.0	-	
								ntageous after sesment			
a-5	Socks	252	160	40,320	-	-	110	27,720	•	-	
		252	2nd Most Advantageous				1st Most Advantageous				
a-6	Belts	126	375	47,250		-	230	28,980	-	-	
		120	2nd Most Advantageous				1st Most Advantageous				
- 7	0	126	190	23,940	-	-	190	23,940	-	-	
a-7	Caps						1st Most Ad	vantageous			
a-8	Badge Set (Name Tag, shoulder title, Pakistan Flag, NADRA Security	126	330	41,580		-	650	81,900	-	-	
	wing, NADRA security Sign)		1st Most Advantageous				2nd Most Advantageous				
b - L	Jniform for Drivers and Mess staff				12						
b-1	Shalwar Qameez	67	-	-	-	-	3,150	211,050	-	-	
							1st Most Advantageous afte Price Assesment				
b-2	Waistcoat	67	2,400	160,800	-	-	2,100	140,700	-	-	
			2nd Most Advantageous				1st Most Advantageous				
b-3	Socks	134	160	21,440	-	-	110	14,740	====	-	
			2nd Most Advantageous				1st Most Advantageous				
b-4	Shoes	67	3,200	214,400	-	-	2,999	200,933	3,987	267,129	
			2nd Most Advantageous				1st Most Advantageous		3rd Most Advantageous		
b-5	Caps	67	190	12,730	-	-	190	12,730		-	
			2nd Most Advantageous				1st Most Advantageous				
b-6	Safari Suit	4	5,000	20,000	-	-	6,550	26,200		-	
			1st Most Ad	vantageous			2nd Most Ad	Ivantageous			

**Most Advantageous** 

**M/S Baksh Enterprises** is most advantageous for items at Sr.(a-8 and b-6), **M/S Chaudhary Enterprises** for items at Sr.(a-1, a-2, a-3, a-4, a-5, a-6, a-7, b-1, b-2, b-3, b-4 and b-5)

Official Stamp: GOVT. OF PAIGS

03/6/24

Maj (R) Imran Ali Khan Director Admin

